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SPRING PENDULUM LAO
Hooke, part 2

Procedure: Use small amplitude,
time 10 cycles, 7 trials

Data:
Trial Mass (kq) T (sec) T?(sec?
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Calculations: T=2mv/m/k

1. Graph T? versus mass and obtain linear best fit
2. Use slope to calculate k and compare to slope of
first graph (show work directly on graph)
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Data Set 1: Data %
Row Mass Period Period squared
Num (kg) (sec) (sec squared) |
1 0.50000 0.620 0.3844 /—/T
2 0.75000 0.780 06084 __——
3 1.00000 0.880 0.7744|
4 1.25000 0.990 0.9801
5 1.50000 1.090 1.188
6 1.75000 1.160 1.346
7 2.00000 1.250 1563] .
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